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1. ������������������������������� ��
!�
1.1 ������������������������������� ��
!�"#$���%��&'���(����)�*���

������ ��
!� +� COD
 �������	
��
�	��� 1, 2 �
� 3 ��� COD ������������	�
� 
����������	!�"��

��#� 3 ��$��%�"�%�&��'
	��� COD (	)&���)�*�$�$������ �$�+,-�(,.��/0���+	�*"����1� +&1��.
)
%��+�&�+2�$��&���3��
	(	)&�� (	��$������� 8 �
�6�!,�������� 9)

/������� 8 ��� COD .��#���/#�%��+���� 9%�� ��� Fe : COD .�
�"� 0.02 - 0.08 (@	*�#�� ���) @	*.
)
 ��	A�
2B�/�,���%6�!��	

 +� COD (mg/L) (% ������
�� COD)
!������������#8���� 9�/���+��

�+9���������� (:�����;��&�/�� (:�����;��&�/�� + CaO
1 COD : Fe = 1 : 0.08 2415 692 (71.3 %) 369 (84.7 %)
2 COD : Fe = 1 : 0.04 2415 913 (62.2 %) 830 (65.6 %)
3 COD : Fe = 1 : 0.02 2415 1024 (57.6 %) 922 (61.8 %)

)�*(�
�9���� 9 ���+,��9+A3�$9��������	 COD .��#���/#�%��+���� 9 %�� ��� Fe : COD   
 .�
�"� 0.02 - 0.08 (@	*�#�� ���) @	*.
)��	A�
2B�/�,���%6�!��	
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���$������� 8 �
�6�!,�������� 9 ��+ 3�(	)"��+&1��$�$����	)"*��
+A�*&
���(A	9 ��� COD ���(	)��
	
���� �����1�����	
��
�	��� 1 %�&��'
	��� COD (	)'G� 84.7 %
����	
��
�	��� 2 %�&��'
	��� COD 65.6% �
�����	
��
�	��� 3 %�&��'
	��� COD(	)
61.8%

������ ��
!� +� pH
+&1��!/���H����+,
��*��,
�I����� pH .�����	
����#� 3 
�	 !�"��&���"@�)&

�*B�.��B,���+	�*"��� @	*������ pH I���#���/#�%��+���� 9������������	��&����,��&�H 7.9  
��
���,���	)"*��	A�
2B�/�.�
�"�I�����+�/	,L/�/�/*�+2�$����&���� pH 2.7 �
�+&1��+$/&��
+A�*&
���(A	9��� pH ���(	)&����%B�IG#� (	��$������� 9 �
� 6�!,�������� 10)

/������� 9 ��� pH .��#���/#�%��+���� 9%�� ��� Fe : COD .�
�"� 0.02 - 0.08 (@	*�#�� ���)@	*.
)
 ��	A�
2B�/�,���%6�!��	

 +� pH
!������������#8���� 9�/���+��

�+9����������
(:�����;��&�/�� (:�����;��&�/�� + CaO

1 COD : Fe = 1 : 0.08 7.9 2.7 7.4
2 COD : Fe = 1 : 0.04 7.9 2.7 5.1
3 COD : Fe = 1 : 0.02 7.9 2.7 4.2

)�*(�
�9���� 10 ��� pH .��#���/#�%��+���� 9%�� ��� Fe : COD .�
�"� 0.02 - 0.08 (@	*�#�� ���)
@	*.
)��	A�
2B�/�,���%6�!��	
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� I

������ ��
!���
�������	
��.� )��,L/��$/��� .
)��	A�
2B�/�.�,�/&�H+
3��)�*,��� ��� pH 

�*B�.�
�"� 2.5 - 3.0  !�"��+&1��+$/&��	
�(,%�I���#���/#�%��+���� 9��+,
��*�(,+,-�%��#��$�
�&
+ 
1�� 	��6�!,�������� 11  +!�����	���. )+�/	������A/(	A9I��%���/����*9(	)���%�"� +&1��
�����		)"*,L/�/�/*�+2�$��*/�����. )%�I��%��
�
�*
	
� (	��$������� 10) �
�
	
��*���
�	+��
+&1��+$/&��
+A�*&���(A	9 +!�����
+A�*&���(A	9
�"*$�$����+��(����+ 
3����+,-���$�

/%$9�
�%��$��)�����%�"�������%��
�
�*���. )%��
�
�*.%(&�&�%�.����%�	 (	��6�!
,�������� 12 )

)�*(�
�9���� 11 
��MH�%�I���#���/#�%��+���� 9
 �. �#���/#�%��+���� 9 I. �#���/#�%��+���� 9 
��+$/&��	A�
2B�/� (H2SO4)

/������� 10 ���%� .��#���/#�%��+���� 9%�� ��� Fe : COD .�
�"� 0.02 - 0.08 (@	*�#�� ���) @	*.
)
 ��	A�
2B�/�,���%6�!��	

 +� �� (Pt-Co unit) (% �������S9� +���)
!������������#8���� 9�/���+��

�+9����������
(:�����;��&�/�� (:�����;��&�/�� + CaO

1 COD : Fe = 1 : 0.08 2299 295 (87.2 %) 49 (97.9 %)
2 COD : Fe = 1 : 0.04 2299 320 (86.1 %) 135 (94.1 %)
3 COD : Fe = 1 : 0.02 2299 345 (84.8 %) 299 (87.4 %)
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� I �

����	
��
�	��� 1
 ��$��%�"� COD: Fe = 1:0.08

����	
��
�	��� 2
��$��%�"� COD: Fe = 1:0.04

����	
��
�	��� 3
��$��%�"� COD: Fe = 1:0.02

)�*(�
�9���� 12  %�I���#���/#�%��+���� 9.�I�#�$��$���O��������		)"*,L/�/�/*�+2�$��%�� ���
Fe : COD .�
�"� 0.02 - 0.08 (@	*�#�� ���) @	*.
)��	A�
2B�/�,���%6�!��	

 �. �#���/#�%��+���� 9������������	
 I. �#���/#�%��+���� 9 
����������		)"*,L/�/�/*�+2�$��

�. %��
�
�*.�I)� I. 
�����+$/&��
+A�*&���(A	9
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������ ��
!����/� $��
������ ��
!�(��T��U��9�
����	%���"�&+I)&I)�I��@����.�%��
�
�*�
�.�$���� ,�/&�H@����

.��#���/#�%��+���� 9������������	 &��"�&+I)&I)�+������ 1,515 &/

/���&$��
/$� �
�+&1�������		)"*
,L/�/�/*�+2�$��,�/&�H@����.�%��
�
�*
	
�+!�*�+
3��)�* �
�+&1��+$/&��
+A�*&���(A	9!�
"������	
��
�	��� 1 ,�/&�HI��@�����*B�.�%��
�
�* 99.8 %   �
��*B�.�$���� 0.2 %      �
�
+,-�(,.��/0���+	�*"�����#� 3 ����	
�� (	���%	�.�$������� 11 �
�6�!,�������� 13)

/������� 11 ,�/&�H@����.��#���/#�%��+���� 9�
�.�$���� %�� ��� Fe : COD .�
�"� 0.02 - 0.08
 (@	*�#�� ���)@	*.
)��	A�
2B�/�,���%6�!��	

(��T�� U��9� (mg/L)
(:�����;��&�/�� (:�����;��&�/�� + CaO#8���� 9�/���+��

COD : Fe
����
��;�)�*��� ����
��; /
�9�

1 COD : Fe = 1 : 0.08 1391 1325 (99.8%)* 2.9 (0.2%)*
2 COD : Fe = 1 : 0.04 1412 1356 (99.5%) 6.2 (0.5%)
3 COD : Fe = 1 : 0.02 1432 1345 (99.6%) 4.7 (0.4%)

( * % �%	�'G�,�/&�H�)�*
�I��@�������&��*B�.�%��
�
�*�
�.�$����)

)�*(�
�9���� 13 ,�/&�H�)�*
�I��@����.�%��
�
�* �
� .�$����%�� ��� Fe : COD
 .�
�"� 0.02 - 0.08 (@	*�#�� ���) @	*.
)��	A�
2B�/�,���%6�!��	
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 ������ ��
!�(��T��%���&/  
,�/&�HA�
+2$ +�/	������+$/&��	A�
2B�/�.����,������ pH �
�+2���%A�
+2$ 

AG��+,-�+2�$����+�+��$9 ,�/&�HA�
+2$��#� 3 
�	����	
��&����.�
)+��*���� +&1��+�/	,L/�/�/*�+2�$��
A�
+2$
�
�*�*B�.�%��
�
�*%6�!��	+,-�����"�&���
�+&1��$�$����	)"*��
+A�*&���(A	9 
��!�A�
+2$�*B�.�%��
�
�*+,-�����"�&���$�$�$����+!�*�+
3��)�*+�����#� (	��$������� 12  
�
� 6�!,�������� 14)

/������� 12 ,�/&�HA�
+2$.��#���/#�%��+���� 9�
�.�$����%�� ��� Fe : COD .�
�"� 0.02 - 0.08
 (@	*�#�� ���) @	*.
)��	A�
2B�/�,���%6�!��	

(��T�� %���&/ (mg/L)
(:�����;��&�/�� (:�����;��&�/�� + CaO#8���� 9�/���+��S9�

COD : Fe
����
��;�)�*��� ����
��; /
�9�

1 COD : Fe = 1 : 0.08 3140 3030 (98.0 %)* 62 (2.0 %)*
2 COD : Fe = 1 : 0.04 2940 2872 (97.9 %) 62 (2.1 %)
3 COD : Fe = 1 : 0.02 2840 2760 (97.9 %) 60 (2.1 %)

( * % �%	�'G�,�/&�H�)�*
�I��A�
+2$���&��*B�.�%��
�
�*�
�.�$����)

)�*(�
�9���� 14 ,�/&�H�)�*
�I��A�
+2$.�%��
�
�* �
�.�$����%�� ��� Fe : COD
 .�
�"� 0.02 - 0.08 (@	*�#�� ���) @	*.
)��	A�
2B�/�,���%6�!��	
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2.0
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������ ��
!�(��T���!�X�
���&�I��+ 
3�+�/	���+2���%A�
+2$AG��+,-���$�
/%$9 ���. )��#�(����I��+2���%

�
�+2��/� +&1��+$/&��
+A�*&���(A	9��+�/	$����I��+2��/�(Q	���(A	9 AG����+�/	$����+�3"
�"����
+A�*& (	��$������� 13 �
�6�!,��������15)

/������� 13 ,�/&�H+ 
3�.��#���/#�%��+���� 9�
�.�$���� %�� ��� Fe : COD .�
�"� 0.02 - 0.08
 (@	*�#�� ���) @	*.
)��	A�
2B�/�,���%6�!��	  

(��T�� �!�X� (mg/L)
(:�����;��&�/�� (:�����;��&�/�� + CaO#8���� 9�/���+��

COD : Fe
����
��;�)�*��� ����
��; /
�9�

1 COD : Fe = 1 : 0.08 166 6 (3.6 %)* 158 (96.4 %)*
2 COD : Fe = 1 : 0.04 78 7 (9.5 %) 66 (90.5 %)
3 COD : Fe = 1 : 0.02 59 19 (35.2 %) 36 (64.8%)

(* % �%	�'G�,�/&�H�)�*
�I��+ 
3����&��*B�.�%��
�
�*�
�.�$����)

)�*(�
�9���� 15 �%	�,�/&�H�)�*
�I��+ 
3�.�%��
�
�* �
�.�$����%�� ��� Fe : COD
 .�
�"� 0.02 - 0.08 (@	*�#�� ���) @	*.
)��	A�
2B�/�,���%6�!��	

3.6 96.4

9.5 90.5

35.2 64.8
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������ ��
!�(��T��	 ��%�;T
��
+A�*&���(A	9'B�+$/&
�.�%��
�
�* 
�����I�#�$��I�����+�/	,L/�/�/*�+2�-

$�� +%�3�%/#� 	����#���&�,�/&�HI����
+A�*&��#�.�%��
�
�*�
�.�$���� .�%�	%�"����+%��.�
$������� 14 �
�6�!,�������� 16

/������� 14 ,�/&�H��
+A�*&.��#���/#�%��+���� 9�
�.�$����%�� ��� Fe : COD
 .�
�"� 0.02 - 0.08 (@	*�#�� ���) @	*.
)��	A�
2B�/�,���%6�!��	  

(��T�� 	 ��%�;T (mg/L)
(:�����;��&�/�� + CaO#8���� 9�/���+��

COD : Fe
����
��; /
�9�

1 COD : Fe = 1 : 0.08 675 (98.1%)* 12.9 (1.9 %)*
2 COD : Fe = 1 : 0.04 400 (97.8%) 8.8 (2.2 %)
3 COD : Fe =  1: 0.02 254 (97.9%) 5.5 (2.1 %)

(* % �%	�'G�,�/&�H�)�*
�I����
+A�*&���&��*B�.�%��
�
�*�
�.�$����)

)�*(�
�9���� 16 ,�/&�H�)�*
�I����
+A�*&.�%��
�
�*�
�.�$����%�� ��� Fe : COD
 .�
�"� 0.02 - 0.08 (@	*�#�� ���) @	*.
)��	A�
2B�/�,���%6�!��	

!T�;�!/8 �#�� ���$����I������	
��
�	��� 1 0.8336 ���& / 
/$�
 �#�� ���$����I������	
��
�	��� 2 0.6446 ���& / 
/$�
 �#�� ���$����I������	
��
�	��� 3 0.4538 ���& / 
/$�
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1.2 ������������������������������� ��
!�"#$���Y�/���(����)�*���
������ ��
!� +� COD

����	
��
�	��� 4, 5 �
� 6   ��� COD  
����������	��&����+,��9+A3�$9��������	
&���"�����.
)��	A�
2B�/� (+,��*�+��*��� "���$������� 8 �
�$������� 15) �
�+&1��+$/&��
+A�*&
���(A	9+!1��$�$������
�,���%6�!+�%��#� S
I�����
	
�I����� COD *����+,-�(,.��/0
���+	�*"����1� +&1��.
)%��+�&�+2�$��&����
	(	)&�� %�� �������	
��
�	��� 4 . )��� COD ���
+ 
1��)�*�"������	
��
�	��� 5 �
� 6 (	��$������� 15 �
�6�!,��������17)

/������� 15 ��� COD .��#���/#�%��+���� 9%�� ��� Fe : COD .�
�"� 0.02 - 0.08 (@	*�#�� ���) @	*.
)
 ��	(�$�/�,���%6�!��	

 +� COD (mg/L) (% ������
��)
!������������#8���� 9�/���+��

COD : Fe �+9����������
(:�����;��&�/�� (:�����;��&�/�� + CaO

4 COD : Fe = 1 : 0.08 2415 400 (83.4 %) 360 (85.1 %)
5 COD : Fe = 1 : 0.04 2415 520 (78.5 %) 420 (82.6 %)
6 COD : Fe =  1: 0.02 2415 760 (68.5 %) 540 (77.6 %)

)�*(�
�9���� 17  ���+,��9+A3�$9��������	 COD .��#���/#�%��+���� 9%�� ��� Fe : COD
 .�
�"� 0.02 - 0.08 (@	*�#�� ���) @	*.
)��	(�$�/�,���%6�!��	
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������ ��
!� +� pH
����	
����#��.
)��	(�$�/�.����,���%6�!�"�&+,-���	 AG����	(�$�/�&�

�"�&%�&��'.�������A/(	A9%B� (,��!��9 S
����$9, 2535) 	����#����.
)��	(�$�/�,���%6�!
��	+,-����
�"*���A/(	A9%���/����*9(	)������ �G��	)"* %�� ���%6�!��	���+ &��%&��#�*����
+,-���� pH ���,����*B�,��&�H 3.0 AG��+,-�������+ &��%&������+�/	,L/�/�/*�+2�$�� �
�+&1��+$/&
��
+A�*&���(A	9��� pH +,
��*��,
�(,.��/0���+	�*"����������	
��
�	��� 1, 2 �
� 3   (	��
$������� 16 �
�6�!,�������� 18)

/������� 16 ��� pH .��#���/#�%��+���� 9%�� ��� Fe : COD .�
�"� 0.02 - 0.08 (@	*�#�� ���) @	*.
)
 ��	(�$�/�,���%6�!��	

 +� pH
!������������#8���� 9�/���+��

COD : Fe �+9����������
(:�����;��&�/�� (:�����;��&�/�� + CaO

4 COD : Fe = 1 : 0.08 8.0 2.8 7.6
5 COD : Fe = 1 : 0.04 8.0 2.8 6.4
6 COD : Fe = 1 :0.02 8.0 2.8 4.3

)�*(�
�9���� 18 ��� pH .��#���/#�%��+���� 9%�� ��� Fe : COD .�
�"� 0.02 - 0.08 (@	*�#�� ���)
@	*.
)��	(�$�/�,���%6�!��	
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(:��� �� ;� �&�/��  +  C aO
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������ ��
!���
���.
)��	(�$�/�,��� ��� pH . )�*B�.�
�"� 2.5 T 3.0   !�"��+&1��+$/&��	
�(,%�

I���#���/#���+,
��*�(,+
3��)�*+,-�%��#��$�
�&+ 
1�� AG��+,-�(,.�������+	�*"������.
)��	
A�
2B�/� (	��6�!,�������� 9) ���+,
��*��,
�I��%�.�%��
�
�*.�I�#�$��$��� O �%	�.�
,�������� 19  +&1��+,��*�+��*��������	
��
�	��� 1,2 �
� 3 �������	
��
�	��� 4, 5 �
� 6  ���
.
)��	(�$�/���
	%�.�%��
�
�*(	)&���"�� (	��$������� 17)  ��+ 3�(	)"��.���$��%�"� COD : Fe 
= 1 : 0.04   +&1��.
)��	(�$�/���. )S
���
	%�(	)	��"���
�.
)%��+�&�+2�$���)�*�"�����.
)��	
A�
2B�/�

/������� 17 ���%�.��#���/#�%��+���� 9%�� ��� Fe : COD .�
�"� 0.02 - 0.08 (@	*�#�� ���) @	*.
)
 ��	(�$�/�,���%6�!��	

 +� �� (Pt-Co unit) (% �������S9� +���)
!������������#8���� 9�/���+��

COD : Fe �+9����������
(:�����;��&�/�� (:�����;��&�/�� + CaO

4 COD : Fe = 1 : 0.08 2299 227 (90.1 %) 40 (98.2%)
5 COD : Fe = 1 : 0.04 2299 255 (88.9 %) 99 (95.8 %)
6 COD : Fe = 1 : 0.02 2299 287 (87.5 %) 174 (92.4 %)
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� I �

� I �

� I �

����	
��
�	��� 4
��$��%�"� COD: Fe = 1:0.08

����	
��
�	��� 5
��$��%�"� COD: Fe = 1:0.04

����	
��
�	��� 6
��$��%�"� COD: Fe = 1:0.02

)�*(�
�9���� 19  %�I���#���/#�%��+���� 9.�I�#�$��$���O��������		)"*,L/�/�/*�+2�$��I��
 %�� ��� Fe : COD .�
�"� 0.02 - 0.08 (@	*�#�� ���) @	*.
)��	(�$�/�,���

%6�!��	
 �. �#���/#�%��+���� 9������������	
 I. �#���/#�%��+���� 9 
����������		)"*,L/�/�/*�+2�$��

�. %��
�
�*.�I)� I. 
�����+$/&��
+A�*&���(A	9

������ ��
!����/� $��
%��$��)��$��� O *����+,-�(,.�������+	�*"����������	
��
�	��� 1, 2 �
� 3

AG��&�,�/&�HI��@���� A�
+2$ ��
+A�*& �
�(�+$�� *�����*B�.�%��
�
�*&���"�� 95 % AG��+,-�
S
&�������.
)��	 �
�%��+�&�.���������	 %�"�,�/&�HI��+ 
3�$��)���*B�.�%��
�
�*+!�*�
+
3��)�*



59

������ ��
!�(��T��U��9�
,�/&�H@����I�����
�	����	
��!�"�� .�%��
�
�**����&�,�/&�H@����'G� 

99 % �
�&�+!�*�+
3��)�*.�$���� 	����*
�+��*	.�$������� 18 �
�6�!,�������� 20

/������� 18 ,�/&�H@����.��#���/#�%��+���� 9�
�.�$����%�� ��� Fe : COD .�
�"� 0.02 - 0.08
 (@	*�#�� ���) @	*.
)��	(�$�/�,���%6�!��	  

(��T��U��9� (mg/L)
(:�����;��&�/�� (:�����;��&�/�� + CaO#8���� 9�/���+��

COD : Fe
����
��;�)�*��� ����
��; /
�9�

4 COD : Fe = 1 : 0.08 1380 1372 (99.8%)* 3.0 (0.2 %)*
5 COD : Fe = 1 : 0.04 1365 1337 (99.5 %) 3.0 (0.5 %)
6 COD : Fe = 1 : 0.02 1379 1375 (99.6 %) 4.2 (0.4%)

(* % �%	�'G�,�/&�H�)�*
�I��I��@�������&��*B�.�%��
�
�*�
�.�$����)

)�*(�
�9���� 20 ,�/&�H�)�*
�I��@����.�%��
�
�*�
�.�$����%�� ��� Fe : COD
 .�
�"� 0.02 - 0.08 (@	*�#�� ���) @	*.
)��	(�$�/�,���%6�!��	

99.8
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0.5
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������ ��
!�(��T��%���&/
,�/&�HA�
+2$��#���!�.�%��
�
�*&���"�� 97 % .����
�	����	
��(	��$�

������ 19 �
�6�!,�������� 21) �
����.
)��	(�$�/������. )&�,�/&�HA�
+2$�)�*�"�����.
)
��	A�
2B�/�,��%6�!��	

/������� 19 ,�/&�HA�
+2$.��#���/#�%��+���� 9�
�.�$����%�� ��� Fe : COD .�
�"� 0.02 - 0.08
 (@	*�#�� ���) @	*.
)��	(�$�/�,���%6�!��	

(��T��%���&/ (mg/L)
(:�����;��&�/�� (:�����;��&�/�� + CaO#8���� 9�/���+��

COD : Fe
����
��;�)�*��� ����
��; /
�9�

4 COD : Fe = 1 : 0.08 295 242 (97.9 %)* 5.2 (2.1 %)*
5 COD : Fe = 1 : 0.04 125 115 (97.4 %) 3.2 (2.6 %)
6 COD : Fe = 1 : 0.02 75 61 (98.1 %) 1.2 (1.9 %)

(* % �%	�'G�,�/&�H�)�*
�I��A�
+2$���&��*B�.�%��
�
�*�
�.�$����)

)�*(�
�9���� 21 ,�/&�H�)�*
�I��A�
+2$.�%��
�
�*�
�.�$����%�� ��� Fe : COD
 .�
�"� 0.02 - 0.08 (@	*�#�� ���) @	*.
)��	(�$�/�,���%6�!��	

97.9
2.1

97.4

2.6
98.1

1.9

0.0 20.0 40.0 60.0 80.0 100.0
%

4

5

6
#8���� "�����
��;
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������ ��
!�(��T��	 ��%�;T
����	
����#� 3 
�	!�"��,�/&�H��
+A�*&���+$/&
�(,��#�
�
�*�*B�.�%��
�
�*

&���"�������$�$���� @	*&�,�/&�H��
+A�*&.�%��
�
�*&���"�� 97 % ($������� 20 �
�6�!
,�������� 22)

/������� 20 ,�/&�H��
+A�*&.��#���/#�%��+���� 9�
�.�$����%�� ��� Fe : COD
 .�
�"� 0.02 - 0.08 (@	*�#�� ���) @	*.
)��	(�$�/�,���%6�!��	

(��T�� 	 ��%�;T (mg/L)
(:�����;��&�/�� + CaO#8���� 9�/���+��

COD : Fe
����
��; /
�9�

4 COD : Fe = 1 : 0.08 586 (97.1 %)* 17.4 (2.9 %)*
5 COD : Fe = 1 : 0.04 301 (97.6%) 7.3 (2.4 %)
6 COD : Fe = 1 : 0.02 246 (98.0 %) 5.6 (2.0 %)

(* % �%	�'G�,�/&�H�)�*
�I����
+A�*&���&��*B�.�%��
�
�*�
�.�$����)

)�*(�
�9���� 22 ,�/&�H�)�*
�I����
+A�*&.�%��
�
�*�
�.�$����%�� ��� Fe :
 COD .�
�"� 0.02 - 0.08 (@	*�#�� ���) @	*.
)��	(�$�/�,���%6�!��	

97.1
2.9

97.6

2.4
98.0

2.0

0.0 20.0 40.0 60.0 80.0 100.0
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��;
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������ ��
!�(��T��Y��/��
,�/&�H(�+$����#�*�����*B�.�%��
�
�*+,-�����"�&��@	*��#� 3 
�	����	
��

��&�,�/&�H(�+$��'G� 98 % .�%��
�
�* (	��$������� 21 �
�6�!,�������� 23)

/������� 21 ,�/&�H(�+$��.��#���/#�%��+���� 9�
�.�$����%�� ��� Fe : COD .�
�"� 0.02 - 0.08
 (@	*�#�� ���) @	*.
)��	(�$�/�,���%6�!��	

(��T�� Y��/�� (mg/L)
(:�����;��&�/�� (:�����;��&�/�� + CaO#8���� 9�/���+��

COD : Fe
����
��;�)�*��� ����
��; /
�9�

4 COD : Fe = 1: 0.08 74 73 (98.0 %)* 0.4 (2.0 %)*
5 COD : Fe = 1: 0.04 73 72 (98.0 %) 0.3 (2.0 %)
6 COD : Fe = 1: 0.02 73 72 (98.0 %) 0.2 (2.0 %)

(* % �%	�'G�,�/&�H�)�*
�I��(�+$�����&��*B�.�%��
�
�*�
�.�$����)

)�*(�
�9���� 23 ,�/&�H�)�*
�I��(�+��$.�%��
�
�*�
�.�$����%�� ��� Fe : COD
 .�
�"� 0.02 - 0.08 (@	*�#�� ���) @	*.
)��	(�$�/�,���%6�!��	

98.0
2.0

98.0

2.0
98.0

2.0

0.0 20.0 40.0 60.0 80.0 100.0
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��;
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������ ��
!�(��T���!�X�
,�/&�H+ 
3�.�%��
�
�* 
�����$�$����	)"*��
+A�*&���(A	9��#�!�"��&�

,�/&�H+ 
3��)�*&��+&1��+��*����,�/&�H+ 
3�.�$����	����*
�+��*	.�$������� 22 �
�6�!
,�������� 24

/������� 22 ,�/&�H+ 
3�.��#���/#�%��+���� 9�
�.�$����%�� ��� Fe : COD .�
�"� 0.02 - 0.08
 (@	*�#�� ���) @	*.
)��	(�$�/�,���%6�!��	  

(��T�� �!�X� (mg/L)
(:�����;��&�/�� (:�����;��&�/�� + CaO#8���� 9�/���+��

COD : Fe
����
��;�)�*��� ����
��; /
�9�

4 COD : Fe = 1 : 0.08 176 0.5 (0.3 %)* 163 (99.7 %)*
5 COD : Fe = 1 : 0.04 75 5.8 (7.5 %) 70 (92.5 %)
6 COD : Fe = 1 : 0.02 44 11.1 (25.7 %) 32 (74.3 %)

(* % �%	�'G�,�/&�H�)�*
�I��+ 
3����&��*B�.�%��
�
�*�
�.�$����)

)�*(�
�9���� 24 ,�/&�H�)�*
�I��+ 
3�.�%��
�
�*�
�.�$����%�� ��� Fe : COD .�
�"�
 0.02 - 0.08 (@	*�#�� ���) @	*.
)��	(�$�/�,���%6�!��	

!T�;�!/8 �#�� ���$����I������	
��
�	��� 4  0.8710 ���&/
/$�
�#�� ���$����I������	
��
�	��� 5   0.2964 ���&/
/$�
�#�� ���$����I������	
��
�	��� 6   0.2104 ���&/
/$�

0.3

99.7
7.5

92.5
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2. ���������������������������
��U��������/�&9�����
9��
2.1 ���������������������������U�;"#$���%��&'���(����)�*���

������ ��
!� +� COD
����	
����������	�#���/#��������"�������M�+�1#�(&)*��!������@�����S
/$

+2��9�/+���9@	*.
),�/&�H%��+�&�+2�$��+�����������������	�#���/#�%��+���� 9 �
�,���%6�!��	
	)"*��	A�
2B�/� (���$������� 6)  ����	
��
�	��� 7, 8 �
� 9  !�"�� ��� COD I���#���/#��������
�����	&����798.0 &/

/���&$��
/$� +&1�������		)"*%��+�&�+2�$���
�$�$����	)"*��
+A�*&
���(A	9�
)" .�����	
��
�	��� 7 �
� 8 %�&��'
	��� COD (	)'G� 94.8 % �
�����	
��
�	��� 9  

	���(	) COD 90.7 %  (	��$������� 23 �
�6�!,�������� 25)

/������� 23 ��� COD .��#���/#�%�� ��� Fe : COD .�
�"� 0.06 - 0.24 (@	*�#�� ���)
@	*.
)��	A�
2B�/�,���%6�!��	

 +� COD (mg/L) (% ��������	)
!������������#8���� 9�/���+��

COD : Fe �+9����������
(:�����;��&�/�� (:�����;��&�/�� + CaO

7 COD : Fe = 1:0.24 798 79 (90.1 %) 42 (94.8 %)
8 COD : Fe = 1:0.12 798 95 (88.2 %) 42 (94.8 %)
9 COD : Fe = 1:0.06 798 111 (86.1%) 74 (90.7 %)

)�*(�
�9���� 25 ���+,��9+A3�$9��������	 COD .��#���/#�%�� ��� Fe : COD .�
�"� 0.06 - 0.24
 (@	*�#�� ���) @	*.
)��	A�
2B�/�,���%6�!��	

90.1 94 .8
88 .2

94 .8
86 .1 90 .7
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#8����

(:� �� ��; ��&�/��
(:� �� ��; ��&�/��  +  C aO
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������ ��
!� +� pH
+&1��!/���H����+,
��*��,
�I����� pH .�����	
����#� 3 
�	 (	��$������� 24) 

!�"��&���"@�)&�*B�.��B,���+	�*"��� @	*��� pH I���#���/#�������������	��&���� 8.2  
�����,���
	)"*��	A�
2B�/�.�
�"�I�����+�/	,L/�/�/*�+2�$����&����,��&�H 3 �
�+&1��+$/&��
+A�*&
���(A	9��� pH ���(	)&����%B�IG#� (	��$������� 24 �
�6�!,�������� 26)

/������� 24 ��� pH .��#���/#�%�� ��� Fe : COD .�
�"� 0.06 - 0.24 (@	*�#�� ���) @	*.
)��	A�
2B�/�
,���%6�!��	

 +� pH
!������������#8���� 9�/���+��

COD : Fe �+9����������
(:�����;��&�/�� (:�����;��&�/�� + CaO

7 COD : Fe = 1 : 0.24 8.2 3.1 7.7
8 COD : Fe = 1 : 0.12 8.2 3.2 6.0
9 COD : Fe = 1 : 0.06 8.2 3.1 4.9

)�*(�
�9���� 26 ��� pH .��#���/#�%�� ��� Fe : COD .�
�"� 0.06 - 0.24 (@	*�#�� ���) @	*.
)��	
 A�
2B�/�,���%6�!��	

8.2

3.1

7.7
8.2

3.2

6.0

8.2
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#8����

��� ���� �
(:�����;��&�/��
(:�����;��&�/��  +  C aO
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������ ��
!���
���.
)��	A�
2B�/�.�,�/&�H+
3��)�*,��� ��� pH �*B�.�
�"� 2.5 T 3.0   !�"�� 
��

���+$/&��	
�(,%�I���#���/#���&�%�����
�+
3��)�* �
�+&1�������		)"*,L/�/�/*�+2�$�����. )%�I��
%��
�
�*��#�
	
� (	��$������� 25) �$���
	
��*���
�	+��+&1��+$/&��
+A�*&���(A	9AG�������. )
%��
�
�*.%(&�&�%�.����%�	 (	��6�!,�������� 27 )

/������� 25 ���%�I���#���/#�%�� ��� Fe : COD .�
�"� 0.06 - 0.24 (@	*�#�� ���) @	*.
)��	A�
2B�/�
,���%6�!��	

 +� �� (Pt-Co unit) (% �������S9� +���)
!������������#8���� 9�/���+��

COD : Fe �+9����������
(:�����;��&�/�� (:�����;��&�/�� + CaO

7 COD : Fe = 1:0.24 1020 54 (94.7 %) 8.5 (99.2 %)
8 COD : Fe = 1:0.12 1020 39 (96.1 %) 15.1 (98.5 %)
9 COD : Fe = 1:0.06 1020 35 (86.1 %) 25.4(97.5 %)
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� I �

� I �

����	
��
�	��� 7
��$��%�"� COD: Fe = 1:0.24

����	
��
�	��� 8
��$��%�"� COD: Fe = 1:0.12

����	
��
�	��� 9
��$��%�"� COD: Fe = 1:0.06

)�*(�
�9���� 27  %�I���#���/#�.�I�#�$��$���O��������		)"*,L/�/�/*�+2�$��%�� ��� Fe : COD
 .�
�"� 0.06 - 0.24 (@	*�#�� ���) @	*.
)��	A�
2B�/�,���%6�!��	

 �. �#���/#�%��+���� 9������������	
 I. �#���/#�%��+���� 9 
����������		)"*,L/�/�/*�+2�$��

�. %��
�
�*.�I)� I. 
�����+$/&��
+A�*&���(A	9

� I �
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������ ��
!����/� $��
������ ��
!�(��T��U��9�
���S
����	
�� !�"�� ,�/&�H@����*�����*B�.�%��
�
�*'G� 99 % @	*&����

%�"��*B�.�$���� (	��$������� 26) AG��%�	�
)�����S
����	
��.�I)� 1.1 �
�&���"@�)&(,.�
�/0���+	�*"�����#� 3 
�	����	
�� (	��6�!,�������� 28)

/������� 26 ,�/&�H@����.��#���/#��
�.�$����%�� ��� Fe : COD .�
�"� 0.06 - 0.24
 (@	*�#�� ���) @	*.
)��	A�
2B�/�,���%6�!��	

(��T�� U��9� (mg/L)
(:�����;��&�/�� (:�����;��&�/�� + CaO#8���� 9�/���+��

COD : Fe
����
��;�)�*��� ����
��; /
�9�

7 COD : Fe = 1 : 0.24 1127 1041 (99.8 %)* 10.7 (0.2 %)*
8 COD : Fe = 1 : 0.12 1128 1045 ( 99.5 %) 4.9 (0.5 %)
9 COD : Fe = 1 : 0.06 1127 1051 (99.6 %) 1.3 (0.4 %)

(* % �%	�'G�,�/&�H�)�*
�I��@�������&��*B�.�%��
�
�*�
�.�$����)

)�*(�
�9���� 28 ,�/&�H�)�*
�@����.�%��
�
�*�
�.�$����%�� ��� Fe : COD .�
�"�
 0.06 - 0.24 (@	*�#�� ���) @	*.
)��	A�
2B�/�,���%6�!��	
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 ������ ��
!�(��T��%���&/
!�"�����$��)��I��A�
+2$.�%��
�
�*&��,��&�H 98 % ��#�%�&
�	���

�	
�� (	��$������� 27�
�6�!,�������� 29) ��#���#+�1������,�/&�HA�
+2$%�"�. U�&������	 
A�
2B�/�

/������� 27 ,�/&�HA�
+2$.��#���/#��
�.�$����%�� ��� Fe : COD .�
�"� 0.06 - 0.24
 (@	*�#�� ���) @	*.
)��	A�
2B�/�,���%6�!��	

(��T�� %���&/ (mg/L)
(:�����;��&�/�� (:�����;��&�/�� + CaO#8���� 9�/���+��

COD : Fe
����
��;�)�*��� ����
��; /
�9�

7 COD : Fe = 1 : 0.24 3123 3065 (98.3 %)* 52 (1.7 %)*
8 COD : Fe = 1 : 0.12 2895 2798 (98.2 %) 50 (1.8 %)
9 COD : Fe = 1 : 0.06 2762 2695 (98.1 %) 51 (1.9 %)

(* % �%	�'G�,�/&�H�)�*
�I��A�
+2$���&��*B�.�%��
�
�*�
�.�$����)

)�*(�
�9���� 29 ,�/&�H�)�*
�I��A�
+2$.�%��
�
�*�
�.�$����%�� ��� Fe : COD .�
�"�
 0.06 - 0.24 (@	*�#�� ���) @	*.
)��	A�
2B�/�,���%6�!��	
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������ ��
!�(��T���!�X�
,�/&�H+ 
3� +�1�� 100 % �*B�.�%�"�I��$�������
�	����	
�� (	��$������� 28

�
� 6�!,�������� 30)  

/������� 28 ,�/&�H+ 
3�.��#���/#��
�.�$����%�� ��� Fe : COD .�
�"� 0.06 - 0.24
 (@	*�#�� ���) @	*.
)��	A�
2B�/�,���%6�!��	

(��T�� �!�X� (mg/L)
(:�����;��&�/�� (:�����;��&�/�� + CaO#8���� 9�/���+��

COD : Fe
����
��;�)�*��� ����
��; /
�9�

7 COD : Fe = 1 : 0.24 173 0.9 (0.6%)* 161 (99.4%)*
8 COD : Fe = 1 : 0.12 77 6.1 (7.9%) 71 (92.1%)
9 COD : Fe = 1 : 0.06 44 3.0 (7.3%) 38 (92.7%)

(*% �%	�'G�,�/&�H�)�*
�I��+ 
3����&��*B�.�%��
�
�*�
�.�$����)

)�*(�
�9���� 30 ,�/&�H�)�*
�I��+ 
3�.�%��
�
�*�
�.�$����%�� ��� Fe : COD
 .�
�"� 0.06 - 0.24 (@	*�#�� ���) @	*.
)��	A�
2B�/�,���%6�!��	

0.6
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������ ��
!�(��T��	 ��%�;T
���
�	����	
��!�"��,�/&�HI����
+A�*&���$��)��.�%��
�
�*&�&���"�������

$�$���� (	��$������� 29) @	*�$�
�
�	����	
����&�,�/&�H��
+A�*&�*B�.�%��
�
�*&���"��
90 % (	��6�!,�������� 31) �
�&���"@�)&+,-�(,.��/0���+	�*"���

/������� 29 ,�/&�H��
+A�*&.��#���/#��
�.�$����%�� ��� Fe : COD .�
�"� 0.06 - 0.24
 (@	*�#�� ���) @	*.
)��	A�
2B�/�,���%6�!��	

(��T�� 	 ��%�;T (mg/L)
(:�����;��&�/�� + CaO#8���� 9�/���+��

COD : Fe
����
��; /
�9�

7 COD : Fe = 1 : 0.24 656 (97.9%)* 14 (2.1 %)*
8 COD : Fe = 1 : 0.12 347 (96.1%) 14 (3.9 %)
9 COD : Fe = 1 : 0.06 195 (93.1%) 15 (6.9 %)

(*% �%	�'G�,�/&�H�)�*
�I����
+A�*&���&��*B�.�%��
�
�*�
�.�$����)

)�*(�
�9���� 31 ,�/&�H�)�*
�I����
+A�*&.�%��
�
�*�
�.�$����%�� ���
Fe : COD .�
�"� 0.06 - 0.24 (@	*�#�� ���) @	*.
)��	A�
2B�/�,���%6�!��	

!T�;�!/8 �#�� ���$����I������	
��
�	��� 7 0.7654 ���&/
/$�
 �#�� ���$����I������	
��
�	��� 8 0.3578 ���&/
/$�
 �#�� ���$����I������	
��
�	��� 9 0.0474 ���&/
/$�

97.9
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6.9
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2.2 ���������������������������U�;"#$���Y�/���(����)�*���
������ ��
!� +� COD

����	
����������	�#���/#��������"�������M�+�1#�(&)*��!������@�����S
/$
+2��9�/+���9@	*.
),�/&�H%��+�&�+2�$��+�����������������	�#���/#�%��+���� 9 �
�,���%6�!��	
	)"*��	(�$�/� ����	
��
�	��� 10, 11 �
� 12  !�"�� ��� COD I���#���/#�������������	&���� 798 
&/

/���&$��
/$� +&1�������		)"*%��+�&�+2�$���
�$�$����	)"*��
+A�*&���(A	9�
)" ��
	��� 
COD (	)	����# ����	
��
�	��� 10 �
� 11 
	��� COD (	)'G� 96.8 % �
�����	
��
�	��� 12 
	���
COD (	) 91.3 % (	��$������� 30�
�6�!,�������� 32) �
���+ 3�(	)"����� COD %�&��'
	
�(	)
&���"�����.
)��	A�
2B�/�+
��+	�*"�������	
��I���#���/#�%��+���� 9

/������� 30  ��� COD .��#���/#�%�� ��� Fe : COD .�
�"� 0.06 - 0.24 (@	*�#�� ���) @	*.
)��	
 (�$�/�,���%6�!��	

 +� COD (mg/L)
!������������#8���� 9�/���+��

COD : Fe �+9����������
(:�����;��&�/�� (:�����;��&�/�� + CaO

10 COD : Fe = 1:0.24 798 170 (89.4 %) 51 (96.8 %)
11 COD : Fe = 1:0.12 798 170 (89.4 %) 51 (96.8 %)
12 COD : Fe = 1:0.06 798 204 (87.3 %) 139 (91.3 %)

)�*(�
�9���� 32 ���+,��9+A3�$9��������	 COD .��#���/#�%�� ��� Fe : COD .�
�"� 0.06 - 0.24
 (@	*�#�� ���) @	*.
)��	(�$�/�,���%6�!��	
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������ ��
!� +� pH
���+,
��*��,
�I����� pH ��#�+,-�(,.����+	�*"����������	
�����S���&� �1� 

�#���/#����������	&���� pH 8.2   
�����,���	)"*��	(�$�/�.�
�"�I�����+�/	,L/�/�/*�+2�$����(	)
��� pH  ,��&�H 3 �$�+&1��+$/&��
+A�*&���(A	9���. )��� pH   
����������	%B�IG#� 	��$������� 31
�
� 6�!,�������� 33

/������� 31 ��� pH .��#���/#�%�� ��� Fe : COD .�
�"� 0.06 - 0.24 (@	*�#�� ���) @	*.
)��	(�$�/�
,���%6�!��	

 +� pH
!������������#8���� 9�/���+��

COD : Fe �+9����������
(:�����;��&�/�� (:�����;��&�/�� + CaO

10 COD : Fe = 1 : 0.24 8.2 3.2 7.8
11 COD : Fe = 1 : 0.12 8.2 3.3 7.0
12 COD : Fe = 1 : 0.06 8.2 3.4 5.8

)�*(�
�9���� 33   ��� pH .��#���/#�%�� ��� Fe : COD .�
�"� 0.06 - 0.24 (@	*�#�� ���) @	*.
)��	
 (�$�/�,���%6�!��	

8.2

3.20
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������ ��
!���
%�� ������+,
��*��,
�I��%�.�����	
����#��+ 3�(	)
�	+�� ���
	
�I�����%�

+,-�(,�/0���+	�*"�����#� 3 ����	
�� (	��$������� 32) �
�+&1��+$/&��
+A�*&���(A	9%��
�
�*
��.%(&�&�%� (	��6�!,�������� 34)

/������� 32 ���%�.��#���/#�I��%�� ��� Fe : COD .�
�"� 0.06 - 0.24 (@	*�#�� ���) @	*.
)��	(�$�/�
,���%6�!��	

 +� �� (Pt-Co unit) (% �������S9� +���)
!������������#8���� 9�/���+��

COD : Fe �+9����������
(:�����;��&�/�� (:�����;��&�/�� + CaO

10 COD : Fe = 1:0.24 1020 124 (87.9 %) 7.4 (99.3 %)
11 COD : Fe = 1:0.12 1020 51 (95.0%) 12.3 (98.8 %)
12 COD : Fe = 1:0.06 1020 45 (95.6 %) 15.1 (98.5 %)
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� I �

� I �

� I �

����	
��
�	��� 10
��$��%�"� COD: Fe = 1:0.24

����	
��
�	��� 11
��$��%�"� COD: Fe = 1:0.12

����	
��
�	��� 12
��$��%�"� COD: Fe = 1:0.06

)�*(�
�9���� 34 %�I���#���/#�.�I�#�$��$��� O ��������		)"*,L/�/�/*�+2�$��%�� ��� Fe : COD   
 .�
�"� 0.06 - 0.24 (@	*�#�� ���) @	*.
)��	(�$�/�,���%6�!��	

 �. �#���/#�%��+���� 9������������	
 I. �#���/#�%��+���� 9 
����������		)"*,L/�/�/*�+2�$��

�. %��
�
�*.�I)� I. 
�����+$/&��
+A�*&���(A	9
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������ ��
!����/� $��
������ ��
!�(��T��U��9�
����	
��+!1�� �,�/&�H@����.��$�
�I�#�$��I������	
��
�	��� 10, 11 �
� 

12 !�"��@�������!�*�����*B�.�%��
�
�*+,-�%�"�. U� (	��$������� 33 �
�6�!,�������� 35)

/������� 33 ,�/&�H@����.��#���/#��
�.�$����%�� ��� Fe : COD .�
�"� 0.06 - 0.24
 (@	*�#�� ���) @	*.
)��	(�$�/�,���%6�!��	

(��T�� U��9� (mg/L)
(:�����;��&�/�� (:�����;��&�/�� + CaO#8���� 9�/���+��

COD : Fe
����
��;�)�*��� ����
��; /
�9�

10 COD : Fe = 1 : 0.24 1130 1018 (99.7%)* 2.9(0.3 %)*
11 COD : Fe = 1 : 0.12 1128 1049 (99.7%) 6.2 (0.3 %)
12 COD : Fe = 1 : 0.06 1106 1048 (99.6 %) 5.0 (0.4 %)

(* % �%	�'G�,�/&�H�)�*
�I��@�������&��*B�.�%��
�
�*�
�.�$����)

)�*(�
�9���� 35 ,�/&�H�)�*
�I��@����.�%��
�
�*�
�.�$����%�� ��� Fe : COD
 .�
�"� 0.06 - 0.24 (@	*�#�� ���) @	*.
)��	(�$�/�,���%6�!��	
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������ ��
!�(��T��%���&/
,�/&�HA�
+2$��#���!�.�%��
�
�*,��&�H 99 %     .��������	
�� (	��

$������� 34 �
�6�!,�������� 36)      �
����.
)��	(�$�/�.����,���%6�!��	��(	),�/&�H
A�
+2$�)�*�"�����.
)��	A�
2B�/�

/������� 34 ,�/&�HA�
+2$.��#���/#��
�.�$����%�� ��� Fe : COD .�
�"� 0.06 - 0.24
 (@	*�#�� ���) @	*.
)��	(�$�/�,���%6�!��	

(��T�� %���&/ (mg/L)
(:�����;��&�/�� (:�����;��&�/�� + CaO#8���� 9�/���+��

COD : Fe
����
��;�)�*��� ����
��; /
�9�

10 COD : Fe = 1 : 0.24 350 326 (99.2%)* 2.8 (0.8 %)*
11 COD : Fe = 1 : 0.12 230 213 (98.9%) 2.4 (1.1 %)
12 COD : Fe = 1 : 0.06 75 68 (98.8%) 0.8 (1.2 %)

(* % �%	�'G�,�/&�H�)�*
�I��A�
+2$���&��*B�.�%��
�
�*�
�.�$����)

)�*(�
�9���� 36 ,�/&�H�)�*
�I��A�
+2$.�%��
�
�*�
�.�$����%�� ��� Fe : COD .�
�"�
 0.06 - 0.24 (@	*�#�� ���) @	*.
)��	(�$�/�,���%6�!��	
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������ ��
!�(��T���!�X�
���
�	����	
��!�"��,�/&�H+ 
3�&���"�� 99 % ��$�$���� ���. ).�%��


�
�*!�,�/&�H+ 
3�+!�*�+
3��)�*+�����#��G����. )%��
�
�*.%&��IG#�	)"* (	��$������� 35 �
�
6�!,�������� 37)

/������� 35 ,�/&�H+ 
3�.��#���/#��
�.�$����%�� ��� Fe : COD .�
�"� 0.06 - 0.24
 (@	*�#�� ���) @	*.
)��	(�$�/�,���%6�!��	

(��T�� �!�X� (mg/L)
(:�����;��&�/�� (:�����;��&�/�� + CaO#8���� 9�/���+��

COD : Fe
����
��;�)�*��� ����
��; /
�9�

10 COD : Fe = 1 : 0.24 174 0.1 (0.1%)* 171 (99.9%)*
11 COD : Fe = 1 : 0.12 78 0.1 (0.1%) 72 (99.1%)
12 COD : Fe = 1 : 0.06 59 0.2 (0.3%) 49 (99.7%)

(* % �%	�'G�,�/&�H�)�*
�I��+ 
3����&��*B�.�%��
�
�*�
�.�$����)

)�*(�
�9���� 37 ,�/&�H�)�*
�I��+ 
3�.�%��
�
�*�
�.�$����%�� ��� Fe : COD
 .�
�"� 0.06 - 0.24 (@	*�#�� ���) @	*.
)��	(�$�/�,���%6�!��	
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������ ��
!�(��T��	 ��%�;T
%�� ���,�/&�H��
+A�*&AG��+�/	������+$/&��
+A�*&���(A	9+!1��,���%6�!+�% 

�
�+!1��$�$����+ 
3�AG��+,-���$�
/%$9������%��
�
�*!�"�� ��#� 3 
�	����	
�� &���"@�)&
+,-�(,.��/0���+	�*"����������	
�����S���&� �1� ��
+A�*&
�
�*�*B�.�%��
�
�*.�,�/&�H
&���"�� 90 % 	����*
�+��*	.�$������� 36 �
�6�!,�������� 38

/������� 36 ,�/&�H��
+A�*&.��#���/#��
�.�$����I��%�� ��� Fe : COD .�
�"� 0.06 - 0.24
 (@	*�#�� ���) @	*.
)��	(�$�/�,���%6�!��	

(��T�� 	 ��%�;T (mg/L)
(:�����;��&�/�� + CaO#8���� 9�/���+��

COD : Fe
����
��; /
�9�

10 COD : Fe = 1 : 0.24 609 (97.3%)* 17.1 (2.7 %)*
11 COD : Fe = 1 : 0.12 373 (97.7%) 8.9 (2.3 %)
12 COD : Fe = 1 : 0.06 254 (96.3%) 9.4 (3.7 %)

(* % �%	�'G�,�/&�H�)�*
�I����
+A�*&���&��*B�.�%��
�
�*�
�.�$����)

)�*(�
�9���� 38 ,�/&�H�)�*
�I����
+A�*&.�%��
�
�*�
�.�$����%�� ��� Fe : COD
 .�
�"� 0.06 - 0.24 (@	*�#�� ���) @	*.
)��	(�$�/�,���%6�!��	

97.3 2.7

97.7 2.3

96.3 3.7
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������ ��
!�(��T��Y��/��
����	%��,�/&�H(�+$��AG��+,-�$�"���I����	(�$�/����+ 
1��*B�.�%��
�
�*

!�"����+ 
1��*B�.�%��
�
�*+,-�����"�&�� @	* ��#� 3 
�	����	
�� ��&�,�/&�H(�+$��
,��&�H 95 % �
��*B�.�$����,��&�H 5 % (	��$������� 37  �
�6�!,�������� 39)

/������� 37 ,�/&�H(�+$��.��#���/#��
�.�$����%�� ��� Fe : COD .�
�"� 0.06 - 0.24
 (@	*�#�� ���) @	*.
)��	(�$�/�,���%6�!��	

(��T�� Y��/�� (mg/L)
(:�����;��&�/�� (:�����;��&�/�� + CaO#8���� 9�/���+��

COD : Fe
����
��;�)�*��� ����
��; /
�9�

10 COD : Fe = 1 : 0.24 74 72 (95.1 %)* 3.7 (4.9 %)*
11 COD : Fe = 1 : 0.12 73 62 (94.7 %) 3.4 (5.3 %)
12 COD : Fe = 1 : 0.06 73 58 (96.0 %) 2.4 (4.0 %)

(* % �%	�'G�,�/&�H�)�*
�I��(�+$�����&��*B�.�%��
�
�*�
�.�$����)

)�*(�
�9���� 39 �%	�,�/&�H�)�*
�I��(�+��$.�%��
�
�*�
�.�$����%�� ��� Fe : COD
 .�
�"� 0.06 - 0.24 (@	*�#�� ���) @	*.
)��	(�$�/�,���%6�!��	
 !T�;�!/8

 �#�� ���$����I������	
��
�	��� 10 0.7936 ���&/
/$�
 �#�� ���$����I������	
��
�	��� 11 0.3952 ���&/
/$�
 �#�� ���$����I������	
��
�	��� 12 0.1788 ���&/
/$�

95.1 4.9

94.7 5.3

96.0 4.0
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3. ����������������������������+9�����8��$�;
��U��������/��+9���
���
3.1. ���������������������������U�;"#$���%��&'���(����)�*���

������ ��
!� +� COD
����	
���#���/#�������SG��%�	�)�*I����������	���@�����S
/$�
������	�M

+�%�!� AG��+,-��#���/#����&�%�
&!B�
�&�$����%�	��I��S�%� .�����	
��������#���/#�&�������
�	
��$�&��$��%�"�����%	�(").�$������� 6 @	*.
)��	A�
2B�/�+,-�$�",���%6�!��	 !�"�� ��� 
COD I���#���/#�������������	&����,��&�H 588 &/

/���&$��
/$� +&1�������		)"*%��+�&�+2�$���
�
$�$����	)"*��
+A�*&���(A	9�
)" ��
	��� COD (	)	����# ����	
��
�	��� 13 
	��� COD (	)'G� 
92.3 % ����	
��
�	��� 14 
	��� COD (	) 73.5 %�
�����	
��
�	��� 15 
	���COD 41.6 % (	��
$�������38 �
�6�!,�������� 40)

/������� 38  ��� COD .��#���/#�I��%�� ��� Fe : COD .�
�"� 0.09 - 0.34 (@	*�#�� ���) @	*.
)��	
 A�
2B�/�,���%6�!��	

 +� COD (mg/L)
!������������#8���� 9�/���+��

COD : Fe �+9����������
(:�����;��&�/�� (:�����;��&�/�� + CaO

13 COD : Fe = 1:0.34 588 71 (88.0 %) 45 (92.3 %)
14 COD : Fe = 1:0.17 588 202 (65.6 %) 156 (73.5 %)
15 COD : Fe = 1:0.09 588 516 (12.1 %) 343 (41.6 %)

)�*(�
�9���� 40 ���+,��9+A3�$9��������	 COD .��#���/#�I��%�� ��� Fe : COD .�
�"� 0.09 - 0.34
 (@	*�#�� ���) @	*.
)��	A�
2B�/�,���%6�!��	
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������ ��
!� +� pH
���+,
��*��,
� pH +,-�(,$�&��"@�)&+	/& �1��#���/#�&���� pH 6.9 ,���. )�*B�.�

%6�!��		)"*��	A�
2B�/�+!�*�+
3��)�*. ) pH �*B�.�
�"� 2.5 T 3.0  �
�%�	�)�*������,��� pH . )
%B�IG#�	)"*��
+A�*&���(A	9 (	��$������� 39 �
�6�!,�������� 41)

/������� 39 ��� pH .��#���/#�%�� ��� Fe : COD .�
�"� 0.09 - 0.34 (@	*�#�� ���) @	*.
)��	A�
2B�/�
,���%6�!��	

 +� pH
#8���� 9�/���+��

COD : Fe �������� (:�����;��&�/�� (:�����;��&�/�� + CaO
13 COD : Fe = 1:0.34 6.9 2.8 7.7
14 COD : Fe = 1:0.17 6.9 2.6 6.2
15 COD : Fe = 1:0.09 6.9 2.6 4.1

)�*(�
�9���� 41 ��� pH .��#���/#�%�� ��� Fe : COD .�
�"� 0.09 - 0.34 (@	*�#�� ���) @	*.
)��	
 A�
2B�/�,���%6�!��	

6.9

2.8

7.7
6.9

2.8

6.2 6.9

2.8

4.1
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pH

13 14 15
#8����

��������
(:�����;��&�/��
(:�����;��&�/�� + CaO
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������ ��
!���
���+,
��*��,
�I��%�.���������		)"*,L/�/�*�+2�$�� !�"��%�I���#���/#�+	/&&�%�


&!B�
�$����%�	����+,
��*�+,-�%�
&!B�&%)& 	���%	�.�6�!��� 42 �
����
	
�I�����%�+&1��
+$/&��
+A�*&���(A	9��!�"��%��
�
�*.�
�	��� 13 . )S
I�����
	
�I�����%�(	)&��'G� 95.6 %
(	��$������� 40)

/������� 40 ���%�.��#���/#�%�� ��� Fe : COD .�
�"� 0.09 - 0.34 (@	*�#�� ���) @	*.
)��	A�
2B�/�
,���%6�!��	

 +� �� (Pt-Co unit) (% �������S9� +���)
!������������#8���� 9�/���+��

COD : Fe �+9����������
(:�����;��&�/�� (:�����;��&�/�� + CaO

13 COD : Fe = 1:0.34 1740 379 (78.2 %) 76 (95.6 %)
14 COD : Fe = 1:0.17 1740 276 (84.2%) 242 (86.1 %)
15 COD : Fe = 1:0.09 1740 284 (85.7%) 241 (86.2%)
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� I �

� I �

� I �

����	
��
�	��� 13
��$��%�"� COD: Fe = 1:0.34

����	
��
�	��� 14
��$��%�"� COD: Fe = 1:0.17

����	
��
�	��� 15
��$��%�"� COD: Fe = 1:0.09

)�*(�
�9���� 42  %�I���#���/#�.�I�#�$��$��� O��������		)"*,L/�/�/*�+2�$��%�� ��� Fe : COD
 .�
�"� 0.09 - 0.34 (@	*�#�� ���) @	*.
)��	A�
2B�/�,���%6�!��	

 �. �#���/#�%��+���� 9������������	
 I. �#���/#�%��+���� 9 
����������		)"*,L/�/�/*�+2�$��

�. %��
�
�*.�I)� I. 
�����+$/&��
+A�*&���(A	9
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������ ��
!�(��T��%���&/
,�/&�HA�
+2$ !�"��A�
+2$*�����*B�.�%��
�
�*+,-�,�/&�H&���
�.�
)+��*�

���+�1���&�������.
)��	A�
2B�/�.����,���%6�!��	�G����. )A�
+2$$��)��.�%��
�
�*+,-�
����"�&��,��&�H 97.0 % �
��*B�.�$����,��&�H 2 % (	��$������� 41 �
�.�6�!,�������� 
43)

/������� 41 ,�/&�HA�
+2$.��#���/#��
�.�$����%�� ��� Fe : COD .�
�"� 0.09 - 0.34
 (@	*�#�� ���) @	*.
)��	A�
2B�/�,���%6�!��	

(��T�� %���&/ (mg/L)
(:�����;��&�/�� (:�����;��&�/�� + CaO#8���� 9�/���+��

COD : Fe
����
��;�)�*��� ����
��; /
�9�

13 COD : Fe = 1: 0.34 1400 1232 (97.9%)* 24.8 (2.1 %)*
14 COD : Fe = 1: 0.17 1340 1140 (97.9%) 27.2 (2.1 %)
15 COD : Fe = 1: 0.09 1250 1020 (97.6%) 25.6 (2.4 %)

(* % �%	�'G�,�/&�H�)�*
�I��A�
+2$���&��*B�.�%��
�
�*�
�.�$����)

)�*(�
�9���� 43 ,�/&�H�)�*
�I��A�
+2$.�%��
�
�*�
�.�$����%�� ��� Fe : COD
 .�
�"� 0.09 - 0.34 (@	*�#�� ���) @	*.
)��	A�
2B�/�,���%6�!��	

97.9 2.1

97.9 2.1

97.6 2.4

0.0 20.0 40.0 60.0 80.0 100.0
%

13

14
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#8���� "�����
��;

"�/
�9� 
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������ ��
!�(��T���!�X�
,�/&�H+ 
3����(	)���+2���%A�
+2$�
���	A�
2B�/� +,-�(,$�&��"@�)&+	/&�1�

��&�,�/&�H&��.�$����+&1��+,��*�+��*����.�%��
�
�* �1�&�,�/&�H+ 
3�&���"�� 90 % �*B�.�
$���� (	��$������� 42 �
�6�!,�������� 44)

/������� 42 ,�/&�H+ 
3�.��#���/#��
�.�$����%�� ��� Fe : COD .�
�"� 0.09 - 0.34
 (@	*�#�� ���) @	*.
)��	A�
2B�/�,���%6�!��	  

(��T�� �!�X� (mg/L)
(:�����;��&�/�� (:�����;��&�/�� + CaO#8���� 9�/���+��

COD : Fe
����
��;�)�*��� ����
��; /
�9�

13 COD : Fe = 1: 0.34 179 0.8 (1.0 %)* 168 (99.0 %)*
14 COD : Fe = 1: 0.17 76 1.4 (2.0 %) 69 (98.0 %)
15 COD : Fe = 1: 0.09 43 3.7 (7.9 %) 31 (92.1 %)

(*% �%	�'G�,�/&�H�)�*
�I��+ 
3����&��*B�.�%��
�
�*�
�.�$����)

)�*(�
�9���� 44 ,�/&�H�)�*
�I��+ 
3�.�%��
�
�*�
�.�$����%�� ��� Fe : COD
 .�
�"� 0.09 - 0.34 (@	*�#�� ���) @	*.
)��	A�
2B�/�,���%6�!��	

1.0 99.0

2.0 98.0

7.9 92.1

0.0 20.0 40.0 60.0 80.0 100.0
%

13

14

15
#8���� "�����
��;

"�/
�9� 
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������ ��
!�(��T��	 ��%�;T
,�/&�H��
+A�*&���!�.�%��
�
�*&�,�/&�H&���"�� 90 % �
�&��*B�.�$����

+!�*�+
3��)�*+�����#� 	����*
�+��*	.�$������� 43 �
�6�!,�������� 45

/������� 43 ,�/&�H��
+A�*&.��#���/#��
�.�$����I��%�� ��� Fe : COD .�
�"� 0.09 - 0.34
 (@	*�#�� ���) @	*.
)��	A�
2B�/�,���%6�!��	

(��T�� 	 ��%�;T (mg/L)
(:�����;��&�/�� + CaO#8���� 9�/���+��

COD : Fe
����
��; /
�9�

13 COD : Fe = 1: 0.34 599 (97.7 %)* 14 (2.3 %)*
14 COD : Fe = 1: 0.17 321 (95.8 %) 14 (4.2 %)
15 COD : Fe = 1: 0.09 176 (92.9 %) 13 (7.1 %)

(* % �%	�'G�,�/&�H�)�*
�I����
+A�*&���&��*B�.�%��
�
�*�
�.�$����)

)�*(�
�9���� 45 ,�/&�H�)�*
�I����
+A�*&.�%��
�
�*�
�.�$����%�� ��� Fe : COD
 .�
�"� 0.09 - 0.34 (@	*�#�� ���) @	*.
)��	A�
2B�/�,���%6�!��	

97.7 2.3

95.8 4.2

92.9 7.1

0.0 20.0 40.0 60.0 80.0 100.0
%
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#8���� "�����
��;

"�/
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������ ��
!�(��T��/
���� 	�
	 ��T�;T
%�� ���,�/&�H@
 ����$��)�� 
����������	 �%	�.�$������� 44 �
�45 ��!�"��

@
 � ������������0G�M��1� $����"�
���	+&�*&����#���/#�������������	&���� ,��&�H 0.07 �
�
0.04 &/

/���&$��
/$�$�&
��	�� AG��+,-�,�/&�H����)�* �
�+&1�������������		)"*,L/�/�*�+2�$����#�
����"�&+I)&I)�+,
��*��,
�+
3��)�* �
�+&1��$�$����	)"*��
+A�*&���(A	9��!�"��@
 � ���
��
	
� ��+ 
1�+!�*�+
3��)�*

/������� 44 ,�/&�H$����".���������	����#���/#�%�� ��� Fe : COD .�
�"� 0.09 - 0.34 (@	*�#�� ���)
@	*.
)��	A�
2B�/�,���%6�!��	

(��T�� /
���� (mg/L)
!������������#8���� 9�/���+��

COD : Fe �+9����������
(:�����;��&�/�� (:�����;��&�/�� + CaO

13 COD : Fe = 1 : 0.34 0.073 0.060 0.008
14 COD : Fe = 1 : 0.17 0.071 0.062 0.006
15 COD : Fe = 1 : 0.09 0.078 0.067 0.009

/������� 45 ,�/&�H��	+&�*&.���������	����#���/#�%�� ��� Fe : COD .�
�"� 0.09 - 0.34
 (@	*�#�� ���) @	*.
)��	A�
2B�/�,���%6�!��	

(��T�� 	 ��T�;T (mg/L)
!������������#8���� 9�/���+��

COD : Fe �+9����������
(:�����;��&�/�� (:�����;��&�/�� + CaO

13 COD : Fe = 1 : 0.34 0.038 0.030 0.008
14 COD : Fe = 1 : 0.17 0.039 0.032 0.006
15 COD : Fe = 1 : 0.09 0.039 0.035 0.009

!T�;�!/8 �#�� ���$����I������	
��
�	��� 13 0.9940 ���&/
/$�
 �#�� ���$����I������	
��
�	��� 14 0.2680 ���&/
/$�
 �#�� ���$����I������	
��
�	��� 15 0.0970 ���&/
/$�
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3.2. ���������������������������
���+9�����8��$�;U�;"#$���Y�/���(����)�*���
������ ��
!� +� COD

%�� �������	
����#.
)�#���/#�������SG��%�	�)�*I����������	���@�����S
/$�
���
���	�M+�%�!� @	*.
)��	(�$�/�+,-�$�",���%6�!��	 �������	
��!�"�� ��� COD I���#��
�/#�������������	&����,��&�H 588 &/

/���&$��
/$� +&1�������		)"*%��+�&�+2�$���
�$�$����
	)"*��
+A�*&���(A	9�
)" ��
	��� COD    (	)&���"����H�.
)��	A�
2B�/�.����,���%6�!��	
	����# ����	
��
�	��� 16 
	��� COD (	)'G� 95.7 % ����	
��
�	��� 17 
	��� COD (	) 73.3 % �
�
����	
��
�	��� 18 
	��� COD (	)+!�*� 51.4 % (	��$������� 46 �
�6�!,�������� 46)

/������� 46 ��� COD .��#���/#�%�� ��� Fe : COD .�
�"� 0.09 - 0.34 (@	*�#�� ���) @	*.
)��	
 (�$�/�,���%6�!��	

 +� COD (mg/L)
!������������#8���� 9�/���+��

COD : Fe �+9����������
(:�����;��&�/�� (:�����;��&�/�� + CaO

16 COD : Fe = 1: 0.34 588 225 (61.8 %) 25 (95.7 %)
17 COD : Fe = 1: 0.17 588 265 (54.9 %) 157 (73.3 %)
18 COD : Fe = 1: 0.09 588 358 (39.0 %) 285 (51.4 %)

)�*(�
�9���� 46 ���+,��9+A3�$9��������	 COD .��#���/#�%�� ��� Fe : COD .�
�"� 0.09 - 0.34
 (@	*�#�� ���) @	*.
)��	(�$�/�,���%6�!��	
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������ ��
!� +� pH
���+,
��*��,
� pH +,-�(,$�&��"@�)&+	/& �1��#���/#�&� pH ,��&�H 6.9 ,���. )

�*B�.�%6�!��		)"*��	(�$�/�. ) pH �*B�.�
�"� 2.5 T 3.0  �
�%�	�)�*������,��� pH . )%B�IG#�
	)"*��
+A�*&���(A	9 (	��$������� 47 �
�6�!,�������� 47)

/������� 47 ��� pH I�� �#���/#�%�� ��� Fe : COD .�
�"� 0.09 - 0.34 (@	*�#�� ���) @	*.
)��	(�
 $�/�,���%6�!��	

 +� pH
#8���� 9�/���+��

COD : Fe �������� (:�����;��&�/�� (:�����;��&�/�� + CaO
16 COD : Fe = 1:0.34 6.9 2.9 7.8
17 COD : Fe = 1:0.17 6.9 2.8 6.8
18 COD : Fe = 1:0.09 6.9 2.8 5.3

)�*(�
�9���� 47 ��� pH I���#���/#�%�� ��� Fe : COD .�
�"� 0.09 - 0.34 (@	*�#�� ���)
@	*.
)��	(�$�/�,���%6�!��	

6.9
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7.8
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������ ��
!���
���+,
��*��,
�I��%� 
����������		)"*,L/�/�/*�+2�$�� !�"��%�I��%��
�
�*

+,
��*�+,-�%�
&!B�&%)& 	���%	�.�6�!��� 48 �
����
	
�I�����%�+&1��+$/&��
+A�*&���(A	9!�
"��%��
�
�*.�
�	��� 16 �
� 17 ��#�. )S
I�����
	
�I�����%�(	)&���"�� 95 % (	��$������� 48)

/������� 48 ���%�.��#���/#�I��%�� ��� Fe : COD .�
�"� 0.09 - 0.34 (@	*�#�� ���) @	*.
)��	(�$�/�
,���%6�!��	

 +� �� (Pt-Co unit) (% �������S9� +���)
#8���� 9�/���+��

COD : Fe ����T/$� (:�����;��&�/�� (:�����;��&�/�� + CaO
16 COD : Fe = 1:0.34 1740 217 (87.5 %) 73 (95.8 %)
17 COD : Fe = 1:0.17 1740 173 (90.1%) 72 (95.9 %)
18 COD : Fe = 1:0.09 1740 266 (84.7%) 203 (88.3%)
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� I �

� I �

� I �

����	
��
�	��� 16
��$��%�"� COD: Fe = 1:0.34

����	
��
�	��� 17
��$��%�"� COD: Fe = 1:0.17

����	
��
�	��� 18
��$��%�"� COD: Fe = 1:0.09

)�*(�
�9���� 48  %�I���#���/#�.�I�#�$��$��� O ��������		)"*,L/�/�/*�+2�$��%�� ��� Fe : COD
 .�
�"� 0.09 - 0.34 (@	*�#�� ���) @	*.
)��	(�$�/�,���%6�!��	

 �. �#���/#�%��+���� 9������������	
 I. �#���/#�%��+���� 9 
����������		)"*,L/�/�/*�+2�$��

�. %��
�
�*.�I)� I. 
�����+$/&��
+A�*&���(A	9
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������ ��
!����/� $��
������ ��
!�(��T��%���&/
,�/&�HA�
+2$*�����*B�.�%��
�
�*.�,�/&�H&���"�� 90 % ���
�	����	
�� 

�
�$�$�����)�*+!�*�+
3��)�* (	���%	�.�$������� 49 �
�6�!,�������� 49)

/������� 49 ,�/&�HA�
+2$.��#���/#��
�.�$����%�� ��� Fe : COD .�
�"� 0.09 - 0.34
 (@	*�#�� ���) @	*.
)��	(�$�/�,���%6�!��	

(��T�� %���&/ (mg/L)
(:�����;��&�/�� (:�����;��&�/�� + CaO#8���� 9�/���+��

COD : Fe
����
��;�)�*��� ����
��; /
�9�

16 COD : Fe = 1: 0.34 225 208 (98.7 %)* 2.8 (1.3 %)*
17 COD : Fe = 1: 0.17 95 82 (97.6 %) 2.0 (2.4 %)
18 COD : Fe = 1: 0.09 69 65 (94.7 %) 3.3 (5.3 %)

(*% �%	�'G�,�/&�H�)�*
�I��A�
+2$���&��*B�.�%��
�
�*�
�.�$����)

)�*(�
�9���� 49 ,�/&�H�)�*
�I��A�
+2$.�%��
�
�*�
�.�$����%�� ��� Fe : COD
 .�
�"� 0.09 - 0.34 (@	*�#�� ���) @	*.
)��	(�$�/�,���%6�!��	

98.7 1.3

97.6 2.4

94.7 5.3
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��;
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������ ��
!�(��T��	 ��%�;T
���
�	����	
��,�/&�H��
+A�*&.�%��
�
�*&�,�/&�H&���"��.�$���� @	*

�$�
�
�����	
����&�,�/&�H��
+A�*&�*B�.�%���
�*&���"�� 90 % (	��$������� 50 �
�6�!
,�������� 50)

/������� 50 ,�/&�H��
+A�*&.��#���/#��
�.�$����%�� ��� Fe : COD .�
�"� 0.09 - 0.34
 (@	*�#�� ���) @	*.
)��	(�$�/�,���%6�!��	

(��T�� 	 ��%�;T (mg/L)
(:�����;��&�/�� + CaO#8���� 9�/���+��

COD : Fe
����
��; /
�9�

16 COD : Fe = 1: 0.34 571 (97.6 %)* 14 (2.4 %)*
17 COD : Fe = 1: 0.17 318 (96.5 %) 11 (3.5 %)
18 COD : Fe = 1: 0.09 178 (94.9 %) 9 (5.1 %)

(*% �%	�,�/&�H�)�*
�I����
+A�*&���&��*B�.�%��
�
�*�
�.�$����)

)�*(�
�9���� 50 ,�/&�H�)�*
�I����
+A�*&.�%��
�
�*�
�.�$����%�� ��� Fe : COD
 .�
�"� 0.09 - 0.34 (@	*�#�� ���) @	*.
)��	(�$�/�,���%6�!��	

97.6 2.4

96.5 3.5

94.9 5.1

0.0 20.0 40.0 60.0 80.0 100.0
%
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#8���� "�����
��;

"�/
�9� 
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������ ��
!�(��T���!�X�
,�/&�H+ 
3�&�,�/&�H&��.�$����+&1��+,��*�+��*����.�%��
�
�* ��+ 3�"��

,�/&�H+ 
3�&���"�� 95% �*B�.�$������#� 3 
�	����	
�� (	��$������� 51�
�6�!,�������� 51)

/������� 51 ,�/&�H+ 
3�.��#���/#��
�.�$����%�� ��� Fe : COD .�
�"� 0.09 - 0.34
 (@	*�#�� ���) @	*.
)��	(�$�/�,���%6�!��	

(��T�� �!�X� (mg/L)
(:�����;��&�/�� (:�����;��&�/�� + CaO#8���� 9�/���+��

COD : Fe
����
��;�)�*��� ����
��; /
�9�

16 COD : Fe = 1: 0.34 169 1.0 (1.2 %)* 160 (98.8 %)*
17 COD : Fe = 1: 0.17 67 1.4 (2.2 %) 63 (97.8 %)
18 COD : Fe = 1: 0.09 40 1.9 (4.5 %) 38 (95.5 %)

(* % �%	�'G�,�/&�H�)�*
�I��+ 
3����&��*B�.�%��
�
�*�
�.�$����)

)�*(�
�9���� 51 ,�/&�H�)�*
�I��+ 
3�.�%��
�
�*�
�.�$����%�� ��� Fe : COD
 .�
�"� 0.09 - 0.34 (@	*�#�� ���) @	*.
)��	(�$�/�,���%6�!��	

1.2 98.8

2.2 97.8

4.5 95.5

0.0 20.0 40.0 60.0 80.0 100.0
%

16
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#8���� "�����
��;

"�/
�9� 
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������ ��
!�(��T��Y��/��
,�/&�H(�+$��.�%��
�
�*!�"��*�����*B�.�%��
�
�*+,-�����"�&�� (	��$�

������ 52) 
�	����	
����� 16, 17 �
�18 ��&�,�/&�H(�+$��,��&�H 94 T 95 % �
��*B�.�
$����+!�*� 5 T 6 % (	��6�!,�������� 52)

/������� 52 ,�/&�H(�+$��.��#���/#��
�.�$����%�� ��� Fe : COD .�
�"� 0.09 - 0.34
 (@	*�#�� ���) @	*.
)��	(�$�/�,���%6�!��	

(��T�� Y��/�� (mg/L)
(:�����;��&�/�� (:�����;��&�/�� + CaO#8���� 9�/���+��

COD : Fe
����
��;�)�*��� ����
��; /
�9�

16 COD : Fe = 1:0.34 67 62 (94.2 %)* 3.8 (5.8 %)*
17 COD : Fe = 1:0.17 61 57 (94.4 %) 3.3 (5.6 %)
18 COD : Fe = 1:0.09 59 57 (95.2 %) 2.9 (4.8 %)

(* % �%	�'G�,�/&�H�)�*
�I��+ 
3����&��*B�.�%��
�
�*�
�.�$����)

)�*(�
�9���� 52 ,�/&�H�)�*
�I��(�+$��.�%��
�
�*�
�.�$����%�� ��� Fe : COD
 .�
�"� 0.09 - 0.34 (@	*�#�� ���) @	*.
)��	(�$�/�,���%6�!��	

94.2 5.8

94.4 5.6

95.2 4.8

0.0 20.0 40.0 60.0 80.0 100.0
%

16

17

18
#8���� "�����
��;

"�/
�9� 
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������ ��
!�(��T��/
����	�
	 ��T�;T
%�� ���,�/&�H@
 ����$��)�� 
����������	 @
 � ������������0G�M��1� $����"

�
���	+&�*& �#���/#�������������	&�,�/&�H@
 � �����#� 2 
�/	 �)�*�"�� 0.10 &/

/���&$��
/$� 
AG��+,-�,�/&�H����)�*  
����������		)"*,L/�/�*�+2�$����#�����"�&+I)&I)�+,
��*��,
�+
3��)�* 
�
�+&1��$�$����	)"*��
+A�*&���(A	9!�"��@
 � �����
	
� ��+ 
1�+!�*�+
3��)�* 	���%	�
.�$������� 53 �
� 54

/������� 53 ,�/&�H$����".���������	����#���/#�%�� ��� Fe : COD .�
�"� 0.09 - 0.34
 (@	*�#�� ���) @	*.
)��	(�$�/�,���%6�!��	

(��T�� /
���� (mg/L)
!������������#8���� 9�/���+��

COD : Fe �+9����������
(:�����;��&�/�� (:�����;��&�/�� + CaO

16 COD : Fe = 1: 0.34 0.073 0.067 0.007
17 COD : Fe = 1: 0.17 0.071 0.062 0.011
18 COD : Fe = 1: 0.09 0.078 0.069 0.009

/������� 54 ,�/&�H��	+&�*&.���������	����#���/#�%�� ��� Fe : COD .�
�"� 0.09 - 0.34
 (@	*�#�� ���) @	*.
)��	(�$�/�,���%6�!��	

(��T�� 	 ��T�;T (mg/L)
!������������#8���� 9�/���+��

COD : Fe �+9����������
(:�����;��&�/�� (:�����;��&�/�� + CaO

16 COD : Fe = 1:0.34 0.038 0.027 0.008
17 COD : Fe = 1:0.17 0.039 0.032 0.006
18 COD : Fe = 1:0.09 0.039 0.028 0.009

!T�;�!/8 �#�� ���$����I������	
��
�	��� 1   0.9976 ���&/
/$�
 �#�� ���$����I������	
��
�	��� 2   0.3814 ���&/
/$�
 �#�� ���$����I������	
��
�	��� 3   0.0976 ���&/
/$�
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4. ���������������������������� ��
!�!������������T�"#$"�����������Z�9YT$
4.1. �����������(��;����;��
!�+�������������������� ��
!�!�������������������

;��������Z�9YT$��T"!T+ "�����������Z�9YT$
 �#���/#�%��+���� 9 
����������	!�"��&�@����AG��+,-�%�"�,�����%����UI��

%��+�&����M�+�1#�(&)$��)���*B�.�,�/&�H&�� 	��$������� 55

/������� 55 % Recovery I��@���� 
����������		)"*,L/�/�/*�+2�$���
�$�$����	)"*
 ��
+A�*&���(A	9

���$����!�"��.��������	
��&���"@�)&+	�*"����1�&�@�����*B�.�%��
�
�*
.�,�/&�H&�� @	*&� % Recovery 'G� 87.5 T 90.8 %   	����#��G��"�����#���/#�%��+���� 9 
�����
�����	&�.
). )+,-�,��@*
�9

.����0G�M�+,��*�+��*�������M�+�1#�(&) +&1������#���/#�%��+���� 9 
����������	
�
��#��*����M�+�1#�(&)S%&. &�(,�������	
��.�������M�+�1#�(&) 	)"*������(&)*��!���&���	�#��
*��
���� )� 
�������#�������"/+���� 9��� % BAE  (Boric Acid Equivalence ���&�$�f�� JAS 
Standard (&)���.
).�������%�)��@	*(&�%�&S�%���	/��"�&���� % BAE %B��"�� 0.20 %)(	)S
	��$����
��� 56

(��T��U��9� (mg/L)
#8����

�+9������� !�������������$�;
(:�����;��&�/�� + CaO

% Recovery

1 1515 1325 87.5
2 1515 1356 89.5
3 1515 1345 88.8
4 1515 1372 90.6
5 1515 1337 88.3
6 1515 1375 90.8
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/������� 56 % BAE .�������M�+�1#�(&)	)"*�#���/#�%��+���� 9 
����������	�
��#��*����M�+�1#�(&)
 S%&. &�

#��� (��T��U��9� mg/L BAE (%)

�#���/#�%��+���� 9 
����������	
(.
)��	A�
2B�/�.����,���%6�!��	)

1337 0.20

�#���/#�%��+���� 9 
����������	
(.
)��	(�$�/�.����,���%6�!��	)

1325 0.23

�#��*����M�+�1#�(&)S%&. &� 1515 0.25

���$����!�"�� �#���/#�%��+���� 9 
����������	���&����M�+�1#�(&)(	) AG��&� % BAE 
0.20 T 0.23   %�� ����#��*����M�+�1#�(&)S%&. &�&� % BAE  0.25  �G�%��,(	)"���#���/#�%��+���� 9 
��
��������	%�&��'���&�.
).�������M�+�1#�(&)(	)@	*&���� % BAE  �$�$�������#��*����M�+�1#�(&)
S%&. &�+!�*�+
3��)�*�
��*B�.�+�Hi9&�$�f�� % BAE

4.2. ����������	��U�$TS9�(��T��%���&/ 	�
	 ��%�;T���9�
T���/+9���%�T
�+��S9�����;��S$��'+��Z�9YT$

+!1��0G�M���"@�)&I��,�/&�H A�
+2$�
���
+A�*&������&�S
$�����AG&S���I��
�#��*�+I)�%B�+�1#�(&) @	*�������,�S��,�/&�HA�
+2$ �
���
+A�*&���+,-���+�+��$9���. )(	)%��
�
�*
����$�$������ �$�&�,�/&�H@����+������ 	��$������� 57 @	*��������� 1�
� 2 .
)��	A�
2B�/�.����
,���%6�!��	 ������ 3 �
� 4 .
)��	(�$�/�,���%6�!��	

�
)"���(,.
)��	.�+�1#�(&)*��!��� 
�������#�������"/+���� 9,�/&�H@����.�
�B,I�� % BAE  .�+�1#�(&)*��!���
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/������� 57  S
"/+���� 9,�/&�H@����.��B,I�� % BAE .�+�1#�(&)������.
)�#��*����M�+�1#�(&)���
&�,�/&�HI�� ��
+A�*& �
�A�
+2$����$�$������

(��T�����"�����;��������Z�9YT$ (mg/L)
	�����

	 ��%�;T %���&/ U��9�
% BAE

1 786 4141 1325 0.26
2 433 4200 1345 0.22
3 442 126 1360 0.25
4 641 87 1356 0.22

������S
���"/+���� 9 ($������� 57) !�"�� % BAE .�+�1#�(&)�$�
�����	
��&�
���.�
)+��*����@	*������ 1 �
� 2 ��&�,�/&�HA�
+2$ 
����������	.�
)+��*�����$�,�/&�H
��
+A�*&$������!�"�� % BAE &����.�
)+��*�����1� ,��&�H 0.23 T 0.26  +
��+	�*"��������� 3 �
� 
4 +&1��!/���H������� 2 �
� 3 AG��&�,�/&�H��
+A�*&.�
)+��*�����$�,�/&�HA�
+2$$������!�"��
% BAE *�����*B�.�������.�
)+��*�����
��*B�.�+�Hi9&�$�f�� % BAE 	����#�,�/&�HI����
+A�*&
�
�A�
+2$ ,�/&�H&��.�%��
�
�*(&�&�S
$�����AG&S���I���#��*�+I)�%B�+�1#�(&)
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4.3.   ���(�
�T�����;)�*������������������*Z�9���Y("#$���

/������� 58 ���,��+&/����%��+�&� .���H�.
)��	A�
2B�/�

���� T� �� �/+9!�+�;
(���)

(��T�����"#$/+9��������
20,000 ��/�


���������
(���)

+2���%A�
+2$+Q,$�(Q+	�$
(FeSO4.7H2O) 1 �/@
���&

16 10 160.00

50 % (Q@	�+��+,��9���(A	9
(50 % H2O2) 1 
/$�

34 42.2 1435.00

��
+A�*&���(A	9
(CaO ) 1 �/@
���&

18 9 162.00

96 % ��	A�
2B�/�
(96 % H2SO4) 1 
/$�

21 20 420.00

/������� 59 ���,��+&/����%��+�&� .���H�.
)��	(�$�/�

���� T� �� �/+9!�+�;
(���)

(��T�����"#$/+9��������
20,000 ��/�


���������
(���)

+2���%A�
+2$+Q,$�(Q+	�$
(FeSO4.7H2O) 1 �/@
���&

16 5 80.00

50 % (Q@	�+��+,��9���(A	9
(50 % H2O2) 1 
/$�

34 21.1 718.00

��
+A�*&���(A	9
(CaO ) 1 �/@
���&

18 4.5 81.00

65 % ��	(�$�/�
(65 % HNO3) 1 
/$�

40 40 1,600.00
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/������� 60 ���+,��*�+��*����%��+�&�$��,�/&�H�#�� 20,000 
/$�

���� 
��������� (���)
%�����/� %�������A9 5,160.00
%��+�&����.
)�����	
(.
)��	A�
2B�/�)

2,177.00

%��+�&����.
)�����	
(.
)��	(�$�/�)

2,479.00

������,��+&/����%��+�&�!�"�� ��H����.
)��	A�
2B�/� .
)��+�+��$9&���"����	
(�$�/��$�������	(�$�/��!��"���G����. )���.
)���*���%��+�&�&���"����H�.
)��	A�
2B�/� �
�
+&1��+,��*�+��*�����/#��#��*�(,�
)"S%&. &� �����������	!�"����������	�#���/#���#�&�$)����.����
%��+�&�����)�*�"�����S%&. &� 52 T 58 %

���������%��+�&��
)"���&����.
����*.�%�"�I�����%�)�������	+!/�&IG#� �$��*���
(��3$�&+,-� �)����I��@����������$)��&���������	�#������,
��*�/#�
�%B�%/���"	
)�& �������#���/#�
�
��&�.
). &���%��S
. )+�/	���
	$)����.���*�*�"�
�+,-�������M�%/���"	
)�&���	)"*


